TR 1 8 FENERBREFRTHE (FH) DRA b

[ 1 E8HRBEY

(18 & 3 BRBHE) (19 % 3 ARBHE)
=FIE 404,802A = 416,709A (XBI4EE11,907 A&, 2. 94
£ H 2,588FA = 2,676F AN (HAETEE 89/ A, 3. 4%
500,000
404,802 416,709
400,000 [—358054 —— 368,934 ——379.474 394495
300,000
A
200,000
100,000 [—209,/86 ——212,914 [——£19,109 p—xg 15,000 |—x213,384 —— &0 &l 1 —xp22V,c9 1
0 BONSSO B BESSSEN B SSSaSt B SEStUaet B et M SUNSE g f

1245 %

134

1458

155 E

165 E

175 E

184

[CHME IS (65RUL7SRAE) DRMBBE 75RLLL)

2 BN (EXP REEH

=ER
E

80,000

60,000

A 40,000

20,000

(18 & 3 BRBHE) (19 % 3 BRBEHE)
71, 987 A = 73, 115A
432FAN = 440A8AN

(HETEE1, 1 28 A&, 1. 6%1#)
(AT RE

8H A, 1. 8%#)

71,987

:15,007-:

73,115

0
1248 1348 144 1548 1645[E 175E 184
[OExiE OBxige OBEXE OBNE1 OBEN K2 DENNS DENE4 BENHS |
2l
X5 EXE1|EXE2 - BENE1|ENE2| ENES| ENE4| ENGES
184 | SBR[ 11.0% | 14.3% | 0.0% | 19.1%| 17.2%| 15.8% | 12.6%| 10.0%
WAL | 23 | 120% | 11.5% | 1.0%| 20.3%| 17.0%| 14.6% | 12.4%| 11.1%




|3 $1ESBREREICEDSE 1 SREEDEHE BER) |
(18 £ 3 AXREE) (19 £ 3 ARBRHE)
=58 17.2% = 17.0% (NAIEELO. 2PH)
E3] 16.1% = 15.9% (HAIFEELO. 2P#)

20.0

15.0

10.6

% 10.0

5.0

0.0 [ BESSEs BRSSEES RSEss -
12E 13FE 145E 155F 165E 174E  184E
[OEXE1 ~BENE1 DENE2-3 OBENE4-5 |

RIREHE 1 SHRREBICHHLIRBESE (B 15BRKRE) OIS

25.0

3 208

20.0 ‘187"
182 186 187

15.0

10.0

5.0

0.0

[DEXE 1 ~BENE1 DENE2-C DENWLS |




[4 v —Ezx2@RES
1T5E (1 7BFY) 18EE( 7 AT

=EE 54, 233A = 55, 181 A (HHIFEE 94 8AHE. 1. 7%
£ EH 337FBA = 354AAN (HETEE 175 A, 4. 9%i¥)
60,000 55,1817 ]
51,258 B
40,000 33,439
F 27,926
A

20,000

125 % 134 144 1548 164E 8 1748 184

[DEEY-t2 OmlBEHLY-t'2 DERY-t2 |

GE1) BEELL3ANL 2AY—ERSDFEY, T 1 8EEDEICOLTH, EY—ERT
EORBEROAHEZ 1 2TRLUTHE, (L. 1 2EECOVTIEX. 4ANS2A
Y—EXDDOFEY, Ff-. 1 8EED S LMEFER Y —EX(TOVTIK, 4ANG 28
H—EXSDFEY,)

GCx2) FR1 8EENLENEX. EY—EXD 14y AFHEEE L THHE,



[5 R (NEBHE - TR |
(1) &EsE

(1 7EERED (1 8EERE)
=58 1,000 = 996{MA (HEIEE  4EAM. 0. 4%HE)
£ E 6%3, 95780 = 6%3,6158MA CIHTEES342EAR. 0. 5%H)
XBEAFTENBY—EXRERT,

(2) BT FHAEEBZRNEE)
(1 7EERED) (1 8EERED)
=58 9058 = 9188 (HATHEE 1 3EMAME. 1. 4 %)
2 E 5%7.943(A = 5%8,743{EA CIEEE 80 O{EMIE. 1. 4%
G BHEARENSY—EXR, BENMEY-EXRZST,

(BF1) FEMNGBHEDHR

1000

800

600

&
M

400

200

0 1 L L 1 88 L L 88
124 134 1448 154/ 165E 17458 184

(B%F2) FEMNGHE (BEY—EX, BB S —EXARVERY—ERX) O
#¥#% (1 5AFH)

80.0 73.7

60.0

A 40.0

20.0

0.0

165K 1746 E
[ODEEY-t2 Og@EERY-t2 DERY-t2 |

124 135FE 1458 154/

GE1) BEAFENEY—EXR. BENEY—EXRESTTFLL,

(¥2) BEELLI3ANL 2AY—ERGDTY), Tl 1 8FEEDEICOVTH, FY—ERT
EDHRNBDERZ1 2 THRLUTHEE, (L. 1 2FEICOVTIE, 4ANG28Y
—EXSOFY, Ff=. 1 8FED S bHHERRY—EXIOWTIK, 4ANG2AY
—EXSDFH,)



(6 %1 S#HIERE 1 AL YRR (NEHBA - TR |

(1 7F%E) (1 8FE)
=518 224FH = 220FH (MNETEEITFARB. 1. 4%H)
E3] 224FH = 219FH (HNEIEESTFARB. 2. 2%H)
300
(162) (166) (163)
(150)
200 (138)

(124)

125 % 134 14450 1546 164

184
CE1) BEAFENEBY—EXAR, BENMEY—EXRZST,
Cx2) () ORIBEIF12FEEZE 100 L LI-HEDER.
(BE1) RIFENE 1 SHERERE 1 AL VEHE
300
248
250 23272337
208 200 210 211 211 212 214 216 218
200 186- g5 19412 1971 e
;
H150 : . :
100 % HHS e
3 S E :;:f 55 N 1 5 L0 6 G 5 0 I [ 0 I 8 R B P
50 N HeiH Hs ol oz-ros = vt ool bl ioi-toa—1oz—116_taa_tos_110_Jggl 115 111 _i1s el 116 114 4y 116 -~
es| || [79] |- |f:f |:f:| o |:3:| HIR |:f:| |f:f| ”” |:1: |¢:3 ””| - '3'”3:3[f:f_|:f:|>3:3
B 56 5 Y 58 55 1 5 e 5 Y X 5 W s W 2 P BANASARASASASAE
BARABEBNCEERINE@©EZXB #HHESZSN®RRERL
B ® #4 EAR=H8EKKLA AR IAKRMBME
BT o 8% 7 BT BT BT ™ v BT o Br BT BT W A
BT BT il i
(OEEY-t'2 DibEEERY-t'2 DERY-t'2
G BEARMENSY—EXR, BENEBY-EXREZSFLL,
ORZRERE 1 SHIRIESE 1 AHT= ViaHTEDIRLL
X CRECRECRE
B(FfR|IZR|Z|RB|A|S|F|S|E|H(BA|N|Z|A|X|E|E(X|F#|4d M=
R|IT(R|R|B|R|DI~|E|R(W| A |F|IB(RB|IS|M|(E|W|S|L|2|E|E|K
i |H ||| | | | | | |Br |87 |87 | @7 | @7 | @7 | @7 | @7 | @7 | @7 | @7 | @7 | i | i€ |4
BEl3|20) 8 2| 4191322 |15 9|21 |12 |18 |25 (23| 7|17 |11 | 5|10 |16 |24 | 6 | 1 | 14
gEBE| 2|14 4| 6| 8 (2 |11 |10 (18 |21 [24 | 3 |17 | S| 1 |19 |13 | 9|23 |25 |16 |12 |15 |22
BEOE%| S| 915 (11|19 | 81821 |22 | 7|25 |24 | 4 |23 (16| 1| 2|10 | 6 |20 |14 |17 |13 | 3 | 12
k| 2|17 7 3|12 |16 |14 |22 |21 | 8 |24 |20 |10 |25 (19| 4| 6 |11 | 5 [18 |15 |23 | 9 | 1| 13




)

. W)
. W)

(
(

Sw(
% (

I+

I+

)
)



